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��� =������ =������� �z ��� �����	 ������ � y�=�9{����� �� ��� ������=� ���� �z ����9��3� �����3� ����9���� �� {����< ��=���� ��� 3��� ���� y����� ��� x�����Cz��3����� �� ���������< 
��� �� z������� y� � ���=���9���� �z ��� �������3���� ��� �� ��� �3���3�������� �z���� ������ ���¶�=�� ��� x�����C ������ ��y�{{��{ ���9��3< ������� � y���z ��33��� �z ��� ������ ���� ����������� ��� �z��� ��� ������� �z ��� ��3�����{ ��=9�3��� �� ���������<
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¥� ��=��� ������ ��� z�=�� �� �3y����� ����9��3� ���9��3� ��� ���{��� ����������< x ��3�������{ ���=���9�{� �z ��� ���=������ 3���z�=����� ����� ��� ���=��9���� z�� �������� =�3������< ¥������� �3��� 3�=��=��9��������� ����{��� z�� �3y����� �����=������ ��� ��3�9�����{ ��� 3�����< 
���� ����� ��� �����y�� z�� � �������{� �z �����3� ��=�����{ � ���� ��3y�� �z �����=�9�����< 
�� 3��� �������{�� �z �� �3y����� 3�=��=��9������� ��� ��� ����� =����3������ ��{� ���y����� ������ =���< ?�3����� �� � ����=���� ��{������{ =��=������ ���� �������� � {������ �3������ ��C�y������ ��� ����� ��z����� �3���3�������� �z ��� ��{������{ �����3<
�{����� ���� � ��� �z ����9��3� ����� ��� �z��� �����9��3� ��������{ �����3� ��� 3�=��=��������� z��3��� �3y����� ����9��3� �����3< x ����9��3� �����3�� ��� z��3 �� �������� =�3����� �����3 �� ���� ���=����=����� �z ��� �����3 ��� ���� ������� �� ��������3Ã� �y����� �� �����=� =����=� �������� y�� ������ ��� �����3Ã� �y����� �� �����=� ����� ������� �� �{���� ��3�9��������< >���9��3� �����3� ����=���� �����9�=� ���� �� �C������ ���=��� y� ��3����{ ��� �������9��{ �� ��3���� ����< A�� �C�3��� �z ��=� � �����3 ��� �����3 =���������{ ��� ���y�{ �������� �� � =��< K���� =�������� �==���� ��� ���y�{ 3��� y� �=�������< 
����� ��� z��=������ =����=����� �z ��� �����3< ¥� ����9����� ��� ���y�{ 3��� ��� y� �=������� ��� ���� �� ������� �� �� ����� =���� ��� ������ �� ����{� ���� �� ����������� ����� ���y�{< 
��� �� ��� ��3����� =����=������z ��� �����3<2�� �� ��� �3y����� ��� ��� ��3����� ������ �z�3y����� ����9��3� �����3�� ��� �y����� �� �Ä=������3������ ��� �y����� ��� �����3 y������� ��� �=����9���� ��� ������ y��� ����< ¥ÅA ������=�� ��� ��������� �����{ y���= �����3 3��������{ �������� ��=� �������9���� �� � �������� ���� � �=� ��� ��3��{ �z ���
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��� =�� y� ������ �� ����9��3� �����3 ��3��9��� =����=�����< ¥� ��������� ��Ä=���� ��y�{{��{ ���9���� �� 3��� �z��� ��� ��=����� �� ����9��3� �����3�������3��� �������3����< 
��� 3���� ��� ���=��� �z����9��3� ��z����� ��{�������{ �� ���� ������ ��� �������� �z ���3�� ��z����� ��{�������{<�� ��� �� 3��� �C�����{ ����9��3� ��������{ ���9��3� ��=� ��Ä=���� ��y�{{��{ �������� 
��� �� � ��39��� ��������� y�� ��� ������ �� ����� =�3���C< 
��9����������� ��y�{{��{ �� ��� ���=��� �z ��������{ �����������{ ������ ���� =���� ������� ���=������ z�������<
��� �� 3��� �z��� ���� y� �������=��{ �� ����������C�=����� �� � ���=������� �������� ���� =����� � ��y�{9{��< 
� y� =������ �� �������=� ��� ��3� z������� ������C�=����� 3��� z����� �C�=��� ��� ��3� ���� �����{���� �C�=����� �� ��� ������� ���< ¥� ����� ������ ������ �� �=����� � �����3������= ������ Æ4Ç �z ��� ��������C�=�����< ¥� ����� ����=��� 
���� ��� 
������ ��������� z�� �������� ���������� ���{��3�� ��������{ �����3� ����� =��������� ��� ��� ��3� �������� ����� ����Ä=���� �� �=����� � �����3������= ������ �z ��� ���9���� �C�=�����< ��� 3����9������{ ����9��3� ���{��3��������� z�=����� ��=� �� ������=����� ���� �� �C���������=���� ���� �����������{� ��� �==����� �� ��� �����9��� ����9��3� =��=�� 3��� ��� ���=��� �z ���=���{ �������3������= ������ 3��� ��Ä=���<���� ��������� �������� �� ����� ���y��3� ��� ���{� ���=�� ��3���3�� �� �Ä=���=�� ��3���3�� ����9=����� ��� ��� �����3 �� ��C�y������ ��� �� ��������9��������� 3��������{ �z ������ �=��������< 
���� ��9����=��� ���� y� ���=����� ����� �� ��� È[\gX\ ��=�����z ���� �����<
·¸É ÊËÌ ÍÎÏÌ¾ÐÑ ¾ÌºÒÓÏÐÔÌ ¼Ì¾ÁÌÒ
Õ�=� �z ��Ä=���� ��y�{{��{ ����� �� ��� ��� ���� ���y9��3 ���� �C�����{ ����9��3� ��������{ �����3�< F�{9y��{ ��� @�������� ÆEÇ =���3 ���� 3��� =������ � 9���9����z >
A� ��� y���� �� ��� ����3������ �z ����9��3������3� ��� ��=� ������� z�� �����9�z9���9��� �=�����9��{ ��� �������� ������ ��� ���� ���� ������ � ���y��3���� ��� �������� ��� �� y� ����{���� �3���3�������� ������< ��3� ����9��3� ��������{ �����3�� ���9����� ��� y���� �� �����9�z9���9��� >
A� ������� y������� ��� �� 3��� =���� ����=���� �����3�� ���=���9���� ������� ¶��� ��� ���� �z �������� �� ��� �����z �=�������{ ������< �������3���� ������� �� �C�=���
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A� =���z��� y� ���� �� ���< ¥� ��������� ������{� 3��� =�393��=��� >
A� ��� =���{���y�� �� �� � ������� �z �39y����� �����=������� ��� 3��� ������� ��� ������������� ��� ����=� =��� �z ��� ��������{ �����3� �������� 3��� =���{�� �� ��� �����3<x�� ����� ����y�=�� �z �C�����{ >
A� {��� y������ �� ���� �z � ��� >
A� �� ��� 2�����3��� �z ?�39����� F�{�������{ �� ����������� ����������< 
�� ��������3 ����� =������ �z � ��{��� =���{���y�� =�39�����{ ������y���� ����9��3� ������� � ���� 3���� ���9������{ �����9�z9���9��� �=�������{ ������� ����9 �����=�9z��� ��������=��� =�33���=����� ��� ������� z��3��������{ ��� ��y�{{��{< x�� ����� z������� ��� =��9��=��� �� �� ����9����=� z��3������ =����� ��� x�����Cz��3����� ÆEÇ ÆGÇ< 
��� ����� �� � ���=������� �z ���3��������{ ��� ��y�{{��{ �����3 �z ��� x�����C ���9���<
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����� 
���� ��� 
��� 
������< ��3� �z ��� �������93���� ��� ������� ���=��= �� ��� x�����C ������ ������ �C���=��� z��3 ��� ������ ������{ ���� ��� x�����C���3����� ÆEÇ ÆGÇ< B���� �� � ���� �z ��� 3��� �3���9���� �������3���� �z ��� x�����C ��y�{{��{ �����3<
9 
�� ��� �������3��� �z ��� x�����C ��y�{{��{ ���9��3 �� ���� �z �����3����3< 
�� �����3 3��� y��y�� �� �������=� �� �C�=����� �� ��=� � ��� ������� ���{��3 ������ ������� �� ��� ���� ��� �z ����C�=����� 3��� y� ������� �� ��� ������ �C�=��������� �� ��� ��3� �����<
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�� �����3 3��� y� �y�� �� ������� ��� ������������� ��� ��� ��y�{{��{ �����y������� �� �� �� ����9���� ���{��9������{ ���9����9��3� ��y�{{��{ ���9����� ������ ��� ��������� ������=�� ���� ��� ��9y�{{��{ ��� �� ��=� � ��� ���� ��� ��� �z =�������� =���{�� ��� ��� ��y�{{��{ ��� �� =��������<
9 x�� ¶����� =����� y� ��� ���y�� ��� ��� 3��������{3�=�����3� 3��� y� 3���3����<
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�� �����z����=� �� ��� �����3 ���� y� ��� =��������� ��� ���� ��� ��=�����{ y� ��� �� ���3� �z3�3��� �����{� ���=� 3��� y� 3���3����<
9 x�� x�����C ������ z�������� ��=� �� ��{����� ����9z��� =�33���=����� ��� ��3������� 3��� y� ���9������ y� ��� x�����C ��y�{{��{ �����3<
9 x�� ���y� ��� 3��������{ 3�=�����3 ��������3��� y� �����=��y�� ��� =�3����y��<

9 
�� x�����C ��y�{{��{ �����3 3��� y� =�3���9�y��� �����y�� ��� �=���y��<
·¸ß àÀÔÔº¾Û
¥� ��� �����{ ���3 �z G666� ��� 3����� ������ ����� �z3�¶�� �3������=� �� ���� ������ ���� =����=��� �� ���>���9
�3� �����3 2���{� Õ�y������� �� ���������������������< 
�� ���� ��� ��� =����� t\YWVguá t lV`fY`YZlW _̀ [ \b[eef\gqWd VW[efYgbW pWVUWe ÆEÇ ��� =��9������ �z � ����9��=�3����� ����9��3� ������ �����9����< 
�� ����� ������ ��� =����� âcWegu dWnWe l̀fbWUY WUngV`UbWUY ÆGÇ ��� =�������� �z �� ������� ����9��=�3����� �������3��� �������3��� z�� ��� x�����C������< 
���� ������ ����� ���� ��� ���� ��� =�����y�9����� �� ��� x�����C z��3�����< 
��� �� ��� ������ ÜWfcahhgUh Y^W t\YWVgu pWVUWe cZ dWYWVbgUg\YgX VWle[Z ���=������� �z 3��������{ ��� ��y�{{��{ ������� z�� ���x�����C ������< 
�� 3��������{ ��� ��y�{{��{ =���{9������� �� y���� �� ���� ��� Ay���C =���{������� �����3<
��� ������ ��� =����=��� �� ��� z��� ���3 �z G666 ���9��{ � G6 ����� ������� ���� �� ��� >���9
�3� �����32���{� Õ�y������� �� ����������� ����������<
·¸ã ä¿»ÀÔÌÁÏ åÀÏÒÐÁÌ
L�C�� �� ���� y� ������{ �� ��� ���3�����{� ���� ������ ��=�3��� �� ����� �� ����� 3��������������{� �z��� =��=���� �z ���� ������< 
��� �� z������� y� � ��9�=������� �z ��� ���y��3� �z ��y�{{��{ 3����������{����9��3� �����3� ��� ��� ����� =�����y������ �� �������� ���� ������=��� ����� ���y��3�< xz��� ����� ����� ����� ����� �z ��� x�����C ��y�{{��{ �����3 ��� ��9�=��y�� �� ������< F���������� z����� ���� ��� =��=��9����� ���� y� ���=�����<
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��� =������ ����� ���� ��3� ���������� �z �� ��9��� ����� �z ��� x�����C ��y�{{��{ �����3< ��� 3���{������ ��3� ���������� �� ��� x�����C z��3������ ���ÆEÇ<
ñ�P�Q����OP�S Q�¬§R�
2����3������= ������ �� ��� ���=��� �z ��9=������{ ���C�=����� �� � ��� ���� �� ���� �����{� �C�=��� �����3� ���� �� ��� ������� �C�=����� ���<
¦��PQ�§ ò�£

�� =������ ��� �� ��� ���� �z ������ �� �� �C�=��������< ¥� ���=��y�� ��� ��������=���� ����������� ���9��� ����=������� ����3������ ��� ���� ������ ��� �����������=� ���� ��=� ����� ����{ ��� ��3�9�C�� �z �� �C9�=�����<
¦��PQ�§ ò�£ N�ó�Q
¥� ��� x�����C ��y�{{��{ �����3� ��� =������ ���y� �� �� � 3�3��� �����{� ���=� �3���3����� �� �=�=��= y� �� �� ����� �� ��=��� ��� =������ ��� �������z ��� =������ ���<
ñRPR ò�£ ¬Q�N�O
x ���� ��� ���y� �� ��� 3�=�����3 ���� �� ��� x�����C��y�{{��{ �����3 �� ������� ��� ��=�����{ �z ��{��z9�=��� ����9���� ����� ��=� �� ������{� �z �������� ��9=����� 3����{�� ��� ���� ������<
ñRPR ò�£ N�ó�QO

�� ���� ��� y� ��� ��� � ��� �z =�=��= y� ���� ������ ��=��� ��� ���� 3�������� y� ��� ���� ��� ���y��<
¦����P���R§ NQ�R¤¬���P
x =���������� y��������� �� � ��y�{{�� y������������� � y���� =��������< 
�� y��������� ���� �������� �C�=����� �z ��� y���� =�������� �� ����<

¦����P���R§ NQ�R¤¬���P �RSQ�
x =���������� y��������� 3�=�� �� � =���������� y����9����� ���� � ��� �z ��y�{{�� =�33���� ����=����� ������< A�=� ��� y��������� �� �=�������� ��� =�33������� ������� �����{� ��� �C�=���� ��� y� ���<
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��{��� E<H	 
������ �� �� ������������� ��������
K���� ��z����� ��{������ ������{ ���� ���9����9��3� ��z����� ���� y��� �y�� �� ��� ��y�{{��{ �����z�� ��=����� ��� ����9��3� ��{������ ���� z��{�� �����y������ ������� ���3< ��3� ����3��� �� y���� ��������� ���� y��� 3���� y�� ��� z�=� ��3����	 x ����3�¶����� �z ��� ����9��3� �����3� ����� ��=� ��Ä=������y�{{��{ �������<
Ö¸· äÌ�ÁÐÁ½ ÏËÌ  ¾¿ÚÒÌÔ
��� ���� 3���� ��� ���=��� �z ��y�{{��{ ����9��3������3� �� 3�=� ������ ���� ��� ��� �z ��y�{{��{���9����9��3� �����3�� ¥� ��� ��C� ����� ��=������ ������ �� � ����9y�9���� 3����� ���� �� ��� �� ����=���z ��y�{{��{ ���9����9��3� ��� ����9��3� �����3�< x��3���� ������=� ��� 3��� y� 
���� ��� 
������ Æ4Ç<
!"#"# $%&'()*+,-.%&' &/&*0),(*+%1)-2-+)1-
K� ���� ������� ������ ���� ��y�{{��{ �� ��� ���=����z ��������{ ��� ��������{ y�{� ���� =���� ������ ���9=������ �����{ ���9��3� �� � =������ �����3< ¥� ������������ ���{��9������{ ���9����9��3� ���{��3� �������=��� �� ����� �������< ?�������� z�� �C�3���� ��� z��9�����{ ����� �z =��� �� �{��� E<H<
�� =��� ������=� ���� ���� ����� ��� =������ C���=��� ��� ����� :4< 
������� ��� �����y�� C �� ������������ ��� z�� ��3� =�3������ ��� =��� ���� ���� ����

��� ��������� ����{�� �� ������ y�� z�� ����� =�3���9���� �� 3�{�� ���< ¥z ���� ���{��3 ����� y� ��� ��� ��y�{{��� ��� ��������� ����� y� �y�� �� �������=��� ��������� �C�=����� ¶��� y� �������{ ��� ���{��3 ������� �{��� ���� ��� �C�=� ��3� ��{�3���� 3�z ���4 �������< ¥� ��� ��y�{{��� �� ����� ���� y� �y�� �� ���������{� ��� ���{��3 ���� y� ���� �� ������=���� y� ��9����=���� ��� �� ��=� ���� �C�3��� �������� ����� �z��� ���{��3 ����� �� ����� ���� ��< ¥� ���� �C�3�������=���{ ��� �����y�� C ����� ���� �� �� ����� ���=��9��� �z ��� y�{ ���� ��� �� ��� ���� ��������� �C�=�����<

!"#"5 $%&'()*+,-.%&' 0),(*+%1) -2-+)1-
�����{ z��3 ���{��9������{ ���9����9��3� ���{��3� �����{��9������{ ����9��3� ���{��3� ���� ��� =��=��� �z������=���� ����� ��� ��������=� �z� �� �C������ =��9��C�< 
�� �����3 =�� y� �������� ���� �������� ��39����{ ��� �C������ =����C� ��� 3������ ������=���{ ������� =����C�< ¥� ��������� ��� �����3 �� �������� ����� ����9��3� =��=�� {����{ ��� �C������ ��� ��� �����������=��� � ������ ��3�y���< ¥z �� ��� �� ��y�{ ��=� ����{��3��� ���� ��=������ ��� 3�¶�� ���y��3�	 ��������� �� �� �������=� ��� ������{� �z ������� ���� ����� ���� ���� 
���� ������{� ���� �� y� �������=�� ������� ��� �� ������� ��� �������3��� �z �����{ �C�=������ ��3� ������ �� ��� �����3 z�� �=������{ � �����93������= ������< ��=���� ��� �� �� ���� ��� ��������3�y��� ����=�� ¥� ��� ��y�{{��{ �������=���� ��������� ��������� ����� �� y� �y�� �� ��� y���������� ������{��9���� �����{� ��� �C�=�����< 
������� y������{��� �C�=����� ���� ���� y���� ��� ���{���� �z ��� �����9��� ��� ����� ��� �C������ ���=��� ���� =�������< ?��9������ z�� ������=�� �� xB�9y������{ �����3 �� � =��<2����{ � ������{ ������ �� ����� �� ���=������ ��� ��������3 �� ��� �� � ��y�{{��< K���� ��� �����3 �� ����� ��� ��y�{{��� ��� ������{ =��� ����� �� �������=���� ��������� ����� y� 3���������{ ��� ����=�� �� �����3� ��� �� �� ��� ���� ���< 
������� y������{ ����C�=����� �z ��� �����3 y� ������{ � y��������� ��3�9����� �� ��� =��� ���� ���� =���� ��� ���{��3 �� ����<
�� ����=��� ���������� ���� ��� z����� �� ��� 3����� �z��� 3������� ��� ��� ������ ��3�y��� �z ��� ����������� �C������ �����3 �� ����< 
��� 3���� �� �3�����y���� �������=� ��� ����� �����3������=���� ��� ��3����9������� ������{��� �C�3����{ ��� ����� �z ��� �����3�� �� ����� ��3�� �� ��� �C�=�����<
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�� ���� ���� 3�z ���� ������4 �� 3����{ z��3 ���{��9������{ ����9��3� �����3� �� 3����9������{ ����9��3������3�< 
��� ���� ��� ���y��3 �z =��=�����=� ��������� �����3< K��� ��� �����3 =������� �z � ��� �z ������������ �z ���� ��� ����� ���� ������=� ���� ��=� �����y��� �� � ��3����� ��� � z��=������ 3�����< 8���������=������ ��� �������� ���������� ���� =���{� ������ �z =������ �� ��� �����3< ¥� ��������� ����� ������{������=�� ����� �� ��� ���y��3� ���� =����=�� ��{������� ��=� =���������< ?������� � �����3 ���� ��� ������t ��� È� y��� ������{ ��� ������=� 9< ¥� � ���� �������� �� �{��� E<G� t y���� È �� � ��=� ��������� z��9 ��� ���� ����� �� �� �����<

P

A

Task A grabs resource X

System failure

t

��{��� E<G	 :�;< = >���; ��;���?� @ ������ ����> ���A������ �B ��;< CD

�� ��������� ����� �� �������{��� ���� ��� �� �������� ��� ������� ��3� ���� �z ��z����� ���y� �� ��������3 �� ����� �� 3������ ���� ��������< K��� �������y� �C�=����� �� =����� � ��3��{ � �=� �� ��� �����3���=� 3���� È y��� t �� ��� ��3� ��=� ���� t ����� ��� ���� �C�=�����< 
��� �=������ �� ���=��y�� ���{��� E<E<

P

A

Probe executes

B preempts A

t

B

A

B grabs X

A resumes

A grabs X

��{��� E<E	 :�;< C �������; ��;< = ������ = >���; ��A;���?� @D

��� ��3�� ��� �C�=����� ���� ��� ��=������ ��� ��9���� ��� ��� =���� �z ��� ���� ����� �� ����� �������<
��� ���� �z y�������� ���� ��� ��������� ��� ��3�����z ���y�� � �=� ��� �C�=����� �z ��� �����3� �� =�����lV`cW WEWXY\ Æ7Ç<

Ö¸É ×Ì»ÌÁÏ F¿¾¼

�� ������=� ���� �z ����9��3� �����3 ��y�{{��{ ������{ ��� ���� z�� ����9��3� ���{���� �3���3����9����� �z ����9��3� ��y�{{��� ���� y��� ���������< 
������=� ��� ���=������� �z �������� ���� ���� �� ��������� ��� =�� �C���� ��� ������=� ���� �� ��� ��� �z=��=������ ���{��3 ��y�{{��{< �����9������{ ����9��3� ��y�{{��{ =�� y� ���� �� � ��y��� �z =��=��9���� ���{��3 ��y�{{��{ ��� 3��� �z ��� ��Ä=��������������{ �� =��=������ ���{��3 ��y�{{��{ ���� ���������� �� 3����9������{ ����9��3� �����3�<¥� � ������ �������{ ��� �����9�z9���9��� �z =��=��9���� ���{��3 ��y�{{��{ Æ:Ç� �=2����� ��� 
��3y�������� ��� ���y��3� �z �������� ���{��3 ��y�{{��{	

ŝ W Xe[\\gX [llV`[X^ Y` dWcahhgUh \WfGaWUYg[e lV h̀V[b\ gUn`enW\ VWlW[YWdeZ \Y l̀flgUh Y^W lV h̀V[b daVgUh WuWXaYg`U] Wu[bgUfgUh Y^W \Y[YW] [Ud Y^WU WgY^WV X`UYgUagUh `VVWWuWXaYgUh gU `VdWV Y` \Y l̀ [Y [U W[VegWV l`gUYgU Y^W WuWXaYg`Uj ŝ g\ \YZeW _̀ dWcahhgUh g\X[eeWd HIHJKHLJ MNOPQQKRQj mU_`VYaU[YWeZ]l[V[eeWe lV h̀V[b\ d` U`Y [eo[Z\ ^[nW VWlV`fdaXgceW cW^[ng`Vj SnWU o^WU Y^WZ [VW VaUogY^ Y^W \[bW gUlaY\] Y^WgV VW\aeY\ X[U cW V[dfgX[eeZ dgEWVWUYj ŝ W\W dgEWVWUXW\ [VW X[a\WdcZ TLHNU] o^gX^ `XXaV o^WUWnWV Yo` [XYgngfYgW\ [VW [ee`oWd Y` lV h̀VW\\ gU l[V[eeWej
�����{ �� z��3 =��=������ ���{��3 ��y�{{��{ ������9��3� �����3 ��y�{{��{� �� ��� ��� ���y��3� �z��3����� =���������� �� ��� �����3 ��� ������=��������� �� �C������ ���=���< 
������� �� ���� =����������� ��� ����� �z �=2����� ��� 
��3y��� �� ����3��� �� ����3�� �� ������ ��� ������=��� �z ����9��{ ��� ���y��3 �z =��=������ ���{��3 ��y�{{��{ ����z��� �� ����� ��y{�����< 
��� �� ����������{ ���=� �����3� �������� =�� y� 3��� ��� �z ����9��3� ��y�{9{��{ ������=���< 
�� ���� {���� �� ��� ��� �z ���9�������� ��y�{{��{ ��=�������< 
�� ��=��� ��� ��������� �����9y���� ��y�{{���< 
�� ����� ���=��y�� ��=�9������ z�� ���������{ ���� ��� =������ ��� �� ��� ���9��3 ��� ��� z����� ����� ���� ��=������� z�� �����=�������� �z ���� ���<

!"5"# V0,W%+%/&,( W)X7''%&' +)YZ&%[7)-

���������� ��y�{{��{ ��=������� =�� ���� ���� y� ������ ��� =������ ����� �z y�{� �� ��� =��� �z ����9��3������3�< x���3��{ ��� =���� ������� ��� ��y�{ ����C�=����� �z ����� ���� �� � 3����������{ �����3� ���y�{� ��� ��������� �� ��� ��3��{ �z ��� �����3 �� ���������=���� ���� ��� �C������ ���=��� =�� y� z����<��z����������� ��� 3��� ����y����3� y�{� ��� 3���3���{���� ���� ����<
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�������� �z ��� �����9������ ������{� ��� ��=� ����< B�9������{ ���� ���� ��� �� �����3������=���� �������=�y��¶��� y� ������{ ��� ������� ����� =���� �� ��� ��3� �� �����3� �� �����{ ���� � ��=� ���� ������ ���� ��� ��3������ �z ��� ��� �� ���� �� �� ��� ��3� ����=��� z��3 �����3� ����� �z ���{�� �� �� ����� ������ �� ��3�< >�������� =�����= ��� 3���3�� =���{�� �� ��� ������� ����� �z ����=��� ���� ���� ���{� � �=�� �� ��� ���=�3�< x��9���� ��� ��� ������ ���� z��3 ��� �����9������� ��=���3� ���� t �� ������� 3��� y� ��=�����< �����{ ���� ���� È �� ��� ���� �� ����� � 3����{� z��3 ���� t<
��� ������Ã� y� � ���y��3 �z ��� ������ ������� �� �����3� ����� �� ��� y�{�����{ �z ��� ���{���� ���< 
��9����� ���� �� � �����3 ���� 3�{�� ��� z�� ������ ����3������ y�z��� ������{ ���� �� ��������� �����< 
���3���� ���� ��� 3�������� �C�=����� ������� ����� y�����3��� ��� ����� �� �� ��� 3�3��� �z �� �3y����������3< ¥� ��� x�����C ��y�{{��{ �����3 �� 3��� ����z =�=��= y� ��� �z ����9������ ���{��� �������{ �� ������ ������ � =������ ��3�9�������� y�=� �� ��� �C�=������������< 
��� ������ �� ���� ��� �����y�� ���y��3 �z�������{ ��� ������ �� � ����� �� ��3� ����� t ����������� � 3����{�� y�� È ����Ã� ��=����� �� ���� ��� ����� ������ ���� È ����� ����< 
��� �� ����������� �� �{9
HH
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���� ��� ��� ��������� �� ���� ���y��3	 F����� ���=�� 3��� ���� ���� ��� ������ ������ �� � YV[U\gYeW\\\Y[YW ÆÇ� � ����� ����� �� 3����{�� ��� �� �������93���<A� ��� =�� ��=��� ��� 3����{�� ��=������ 3����{ ������ 3����{�� ��� ����< ?��������� ��� x�����C ��y�{{��{�����3 �������� ���� ��� ������ �z ����� ������=���<
��� 3���� ���� ���� È �� ��� �����3 Þ ����� ����=��� ��� 3����{� z��3 ���� t<Õ�����{ �� ��� ���� ���� �� ��� �����3 3���� w4� ����� ���� ��� ���� �C������ ������=���� ���� �� ��� �����9���� �������{ ��� ����< B�� ���������� ��� =������ y���� =������ ��� y� �� 3���=� �� ����3���=���� �������� =���{���� �z ��� �����3 ���� 3��������{4 ��� ����w �����Ã� ���� �� 3������ ��� ����<x� ����� �� �{��� 7<:� ��� �����3 Þ ��� ����� ������y�� ���� ��� ���� ���� 3�������< x�� y� �� ����� ������� ������� ��=� �� ��� ����� ��� ��3�� �z ��� ������=�����<
�� ���� ��� y� ��� ��� =�=��= ��� ����� ��=�����{3�=�����3 ����� �� ��� �C�=� ��3� ��� �� ��� =��������� y� ��<
ß¸É g¿ÁÐÏ¿¾ »¿Á�½À¾ºÏÐ¿Á

�� =���{������� �z ��� x�����C ��y�{{��{ �����3 ��y���� ���� ��� Ay���C =���{������� �����3 ÆGÇ ���� ��=���{��� ��� x�����C ������< 
���� ��� ��������� ���
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��{��� 7<:	 ¶��� ��� �����; �� ;B;��� ·

��� �y����� �� ���� ��� �����3 ���� ���� ��� 3��������=�����{ �����{� ������ y� ��� ���� ����� ��� ��3����� �����y��� ��=����� ������ ����< 
�� ������� ��� �z����=����{ ���=� z�� ��� 3��������{ �� �� ��3��� ������� �����3 ��� ���� �z ��� ��3�9�������� ��� ��=�����{������ =����< ¥z� z�� �C�3���� ��� ��������� ����� ��������3 �� ���� ���=� �z ��� ������ ��� ���� z�� ������� E66 =��=� ��=��� ��� Ay���C =���{������� �����3���������� ���� ��3�9�������� �� =������ ��� y� �� ������� ��� y� �� �����{� ���=�<2���{ ���� ��3�9��������9�����{�9���=� �����������z�� ��� ���� ��� y� ��� �z �������= ���� ����� �� z������������< ¥z �� ���� � �������= ����� ������� �� �����E6 ��=�� ��� � ��=�����{ ��3� �������� �z E66 ��=��� ������ � ���� ��� y� �� ���� �z E66ÅE6 } H6 �� y� �y9�������� =������ ���� �� ���� ��=����� ��� ����=�������z ��� ���� �����{ ��� ���� E66 ��=��<2���{ ��� ��3� ����������� z�� ��� =������ ���y� �� �� � ������ 3��� ���=��< ¥z �� ¶��� =������� ��=���9��{ ��������=���� �� ���� � ��� �z ����� ���� �� ��9��� ����������< x�� ����� ������ y�� ��� 3��� ���� ������� ������ ��������� �� ��� x�����C ������� ��� ��������4��� ��� ��������� �� ����3�� ������� ����Ã� �C�=�����<
��� ����3����� ���� �����=� ��� ��������=���� ������� ��� �� ��� ���� ���� ��� ��{��� ��������� ���� ������ y�=� �� ��� ����3���� ���� ���� ��� ���� ������� ��{��� �������� ���3������< 
��� 3���� ���� ���3�C�3�3 ��3y�� �z ��������=��� ¸ �����{ � �������z s ��=�� �� � �����3 �z ���� �������= ����� =�� y�=��=������ y� ��� z��3���	
¹ º »¼½ ¾¿ÀÁÂÃ 37<E4

x����{ ��������= ���� ������� ���������� ��� ����9���� 3������ ��� ��{�����3 y�=�3�� ���{���� 3��� =�39���C< x 3��� ������{� ��� ����9�������� ���=��������z ��� =���{������� =�� y� z���� �� �������C x ����{���� � 3������ =���{������� ��������<
ß¸Ö åÄÓÒÐÁÌ ºÁºÒÛÎÐÎ

�� 3��� �y¶�=���� �z ��� � 9���� �������� �� �� ���9���� � =�3����� y���� z�� ��� �����3������= ������ ��9y�{{��{ 3�=�����3< 
�� ����� �� ��� � 9���� ����9���� �� ��� ��� ���� �z ��� =������ ��� y� �� ������ ���� ��� y� ��� ��=����� �� ��� ���{�� �����3<
�� ���� �� �� ��� ��� ��z��3����� z��3 �����3 �������� =����� y���������� �� ��� ������ �C�=����� �������� ������ �==����� �� ��� ��=����� �C�=�����< A�=������� �� � y���������� �� ����� ����� �z ��� �����3����� =�� y� ������� �� ����� �� ��3����� �� ����������� � ��������=�< K��� ��� �����3 ����� �����y��� ������� ��� �C�=����� ����3��< ¥� ���� ���� ��� �C�����������3 ������ =�� y� ��3������<
c"!"# VZ) W)X7'')0

�� ��y�{{�� ���� �� ��� x�����C ��y�{{��{ �����3�� ��� ÅL� ����=�9����� ?9��y�{{��� {�y< 
�� =��9���� ������� �z x�����C ���� {�y97<H4 =���{���� ���� �
HG
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��{��� 7<D	 Û���������� ����<�����
�DE669����=��9�3� 3�=��=��������� ��z����� ��3������<
�� ��3������ �� ���� �� ���z��3 ��� ������ ��y�{{��{�� ��� ���� 3�� �������3���4 3�=���� ������� �z ��9��{ ��3��� ��y�{{��{ ���� ��� �DE66� ���=� �������=����� ��C�y����� ��� ��y�{{��{ ����� �������<Å�y �������� �=���� =�33��� ����� ���=� 3�������� ��� y���������� ��� ������{� �z �����3 �����y���=�� y� ������ �� 3�=��� �� �=���� ����� ����3���9=���� {�������� y� ��� x�����C � 9���� �������� ����<x {�y 3�=�� y��������� =�� ���� �� ����� =�33��������=��� �� �� ��� ���� z����� ��� �����C ���� �� �{9��� 7<4<>�=��� ����� ���� ����� ���� ���� ������=� ���������� ���� ���z�=��� ���� ���� ��� =�33��=��� ��y�{{�����������{ ��3���� 3�=���<
c"!"5 Ü&,(2b%&' Y/&+0/( j/kx� �� ������ �������� � =������ ��� y� �� ����� �� 3����� �z � 49�����	 WnWUY Ý s] Þs] vw] Þv] w] S] Ss Þ��� ���������� �� ����� �� ��� ������� �z ��� ��=������C�=�����< 
� �������=� ����� ������� ��=� ����� �� ���y� �� ��� �� y� �����z��3�� ���� � =���������� y����9����� 3�=��< 
��� �� ���� �� � ��3y�� �z �����< K������ =������ ��� y� �� ��� ��� ���� ��� y� ��� ����������� z��3 ��� ��=����� �C�=������ ���� ��� ���9�������� �� � y��=� �z �������� ��� ����< 
����z������� ���� ���� �� �� �������� ��� =������ ��� y� �� ������ �� ����� ���� ��� y� ��� z��3 ��=� �����< L�C������ ��� ������ �� � =�������{�=�� �����< xz��� �������=� ����� �� ��� =������ ��� y� �� �� ���������� ����� {�y =���������� y��������� 3�=��<
��� =���������� y��������� ���� y� ���{���� �� ��9��� z�� �� ����� ����� �z ������� y�� ��� ����=���� ����� ��3�< ?������� � �=������ ������ W£á Ý sß£à]Þsßàáâ] vwß¢uããäâ] Þvß¢uå£[W] wß¢uâáXà] Sßá]SsßYgbWVYgXp Þ< 
�� ���� ����{ �� �� �� �� =����� ���y��������� ��� ��� y��������� =���������< ��� W£� ������� ���� ��3�����{ ���� ��� y��������� �� �{��� 7<D
�� y���� =�������� �� ����� �� 3��� ���� ���� ����C�=����� �� ��� ������ �� ��� ����{ ��������� �z � ����
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��{��� 7<8	 Û���������� ����<����� ��?��
�� �� ��� ����{ ������=� �z � ��=������ =���� ����� �����3� ���{��3 =������ ����� �� ������� � ��3y�� �z��3��� y�� ��3��� ����� ���� ��� ��3� ���=� ��������� ��{����� =��=���3 ������< 
��� �� ��� � ���������z��=������� y�� �� �� ��������� ����{� �� ������ 3�������������<
� 3��� ���� ���� ��� �����3 y������ �� �C�=������ ��3� ��� �� �� ��� ��=����� ���� �� 3��� ����� �� ���� ����� ��� ������� �� ��� ��{�� =��=� ��=��<
��� �� ���� y� ������{ ��� ����Ã� eWUhY^fY`fUWuYflWVg`dèÕ2@é9�����y�� ÆEÇ �� ��� �� ����� y����������< x������ W£� ��� ��=� =������ ��� ���=��� � ����� �z HG<K� ���� ��� ���� ����� W£ �� � ��3����=� ��������=� ������ E 3Ss}��3����=� ��� S}E4< ¥� ����� ������ ����E �� ������� �� s}HG ��� ��� ��3� ������=� �� ��� ��C�����=����� �z ���� E �� HG 9 HG } 6 ��=��< 
��� 3�������� ��� êÜv �����y�� �z ���� E ������ y� ��� �� 6<
��� ���� =���� ��� ������ �� ���z��3 � ��������=� ������ E< ¥� ��� =���������� y��������� 3�=��� ���� �������� ���� ��� ��� �� �{��� 7<8<
���� L �� ��� ��3y�� �z ����� 9 H ��� ÕC �� ���êÜv =��=������ z�� ���� u< x� ��=� y���������� ���êÜv z�� ��� ����� �� =��=������ ��� ���< 
���� ��� ����� z�� ���������� =�33���� �� ��� =���������� y����9����� 3�=���� y�� 3��� �z ����� ��� �����= =�33����z�� 3����{ ��� ��y�{{��{ ��� � ������ �3������<
c"!"! Ü&,(2b%&' W,+, j/k
?������{ � ������ y���� �z ��� ���� ��� y� ��� �� � ��������� ���� =������{ ��� =���������� y���������� z��3��� =������ ��� y� ��< 
�� ���� ��� y� ��� ��� ¶���� ��� �z ������ ���� ������� ���=� ��� ������� y�=� ����� �����3 y� {�y =�33��� ����< 
�� ���� �� �������y�=� �� ��� ��3� �����{� �� 3�3��� ����� �� ��=� �����=�����< 
��� ��� ����C �� ��� �� ��� ������� ����� ������� ��� ������ ��y�{{��{ ��� ������� ��� ��3� ������3�=�����3� ���� ��=� ������ ��� ���� =�� y� ���� ���������� ���� �������< ¥� ����� ������ ���� ��3� ������� �� ���� z��3 ��� ��=�����{ ���� ���� ���� ����������y��� ������� �z ��� ����� ��� �����<
HE
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�� ���� ���� �z ��� � 9���� �������� ���� ��� �� y����z��3�� y�z��� �� =�� ����� ��y�{{��{ ��� �����3y� �����3������= ������ �� ��� ���� �z ������{ � ����������� �������{ �����< ?������� ��� ��=����� =��������� �� �{��� 7<H6� �����������{ �� �C�=����� �������<
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�� ���� ���� �C�=����{ �� �������{ ����� \ �� ��� �C9�=����� ������� �� ���� B< xz��� ���� B ��� ���3����������� x �� �=�������< 
������� �� ���� ������{ �z���� ����=����� �z ���� x< ¥� �� � ����3�� ����3�����C�=����� �� �� �� � ������� ���� ������ K� ���Ã� ����<
�� ������� ��� ������ ���� ���y��3 �� �� ��� ��� ��������� �� ��� �C�=����� ������� ����� �� ����9����� ����� ��� �����9�����< K� =���� =��� ���� �� ���� �����<x� ��=� � ������ �� ���� ���� y� �� � ����3���� �������� �����z�� ��� ���� �C�=������ ���� y� �������=�y��<¥� �{��� 7<HH� ��� ���� ���� ����� �� ��� ��=����� �C�9=����� �� ��������� ��� ��� �� �������{ ����� \<
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����{ ���������� ��� =��=���� �z ��� 3��������{ ������ � 9���� ��������� ����� �� ������ ���� �� ����� �y������ ������ 3�=�����3< A�=� ��� {�y =�33��� ������� =������ y� ��� x�����C � 9���� �������� ����� {�y=�� y� �������< x �����= ���������� ��� �� ���� ���� {�y����=� �� ���� ����� ��� ����3�= =�33��� ���� =��9���� y� ��� � 9���� ��������< 
��� ���� ��� =����������y���������� �� ��� �����3< xz��� ����� ��� �����3 =��

y� ��y�{{�� �� ��� ��3� ��� �� ��� �������� ���9����9��3� ���{��9������{ �����3< 
�� y���������� =�����{��� ��3������ ������ ��� ������� �����{� ��� ��� ��9���� �C�=����� ���� ��� �C�=��� ��� ��3� ���� �� �����=����� ��� ���<
������� ��� ��� �� ��3�3y�� ���� �z ��� ����������� ��3� ����� �� ��� ��y�{ �C�=����� ������=�� ������� �����3 �� ��=� � ��� ���� ��� ��� �z =������ �z��� �����3 �� �������� ��3� y��������� =�������� 3�{������� y� 3�� ��� ��� ������ ��� �� =��������<
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���=� ���� ������ �� ¶��� � ��������� �z ��� x�����C��y�{{��{ �����3� ��� ��� z������� �z ��� �����3 �������3����� ������{��� ������ �� ���� �3���3�����< ¥����� =������� ��� 3��� �3������� �3�����3���� ������ z������� ��� ������< x���� z��3 ������ ����� ���y9�y�� �C��� � z�� ����� ���� ��� ������ ��� ��� ������z ���� ������{ ���� ������<
ã¸· ðÔ ¾¿ñÌÔÌÁÏÎ
2�� �� ��3�������� �� ��3�� ��3� ����� �z ���� ��������� ��� �3���3����� �� ��� y��� �����y�� ���< ���9�����{ �� � ��� �z �����3 ����� ����� z��=��������� ����Ä=���=� =���� y� ������� �3������<
ò"#"# óë+%1%b,+%/&x�����{� 3��� ��z����� ���y�� ��� ����9����3�������� ��{���� �� ?@� =�=���� ����� �� ���� �� y� ������ ��� ���� �z ¶�����93���3������� �z ���y��< �������93���� ��� ���� �z ��� =������ ��� ��� ���� ��� ��=���9��{ y� ��� =���� y� ����3���� �� 3���3��� ��� ���� �z3�3��� �����{� ���=� ������ �� ��=��� �� ����� �� �����<¥� ��������� ��� =������ ��� ���y��� 3��������{ �����������=��� ��� ��� �������� ���������� ��� �����3���� ��� ��� ���� ���� �� ���������� ¶��� y� ������{�� ����� =���< 
��� =���� ���� ���� y� �3������ �� �����9�����������y����� ����� �z ����<
ò"#"5 ô,1) W)õ&%+%/&-

�� �����y��� �z ��� x�����C ��y�{{��{ �����3 ����=�=��� ���Ã� z����� ��� ������������ �����y�� ��3�9�������� ��� ������� ��� ��������� ���� ������ ��z��93����� �z ����� z��=���� �� ��� ���{��3<�������3���� ��3� =���{������� �����y��� �� ���������� Ay���C {��33�� ���� =��z����{ ����� �����3��< 
���� �����y��� ������ y� ������� �� ������� �3��� ����9z������� =���{������� �������3���<
ò"#"! ö,(Y7(,+%&' X7l)0 -%b)-

�� ��{�����3 =��=������{ ��� ��3y�� �z ������� �� ���=������ ��� y� �� �� ��� z���� �3���3����� ��� ����=�������� ��� ��� y� �� ���� �� � ���9=�3�������� ��9=����� ����{��< 
�� ��{�����3 �����z� ���� ���� ����9��{��� �3���3����� ���� ���� =��=����� � �����9=���

�=������ ���� z�� ��� y� ��� ���=� �� 3��� =���� 3�{��=���� � 3�=� ���{�� 3�3��� �����{� ���=� ���� �=��9���� ������< x� �3����3��� �z ��� ��{�����3 �����y� ���=�3�<
ò"#"c ól*(%&) ,&,(2-%- 0/X7-+&)--��3� ����� �z ��� � 9���� �������� ����� ���=� �������=����� ���� ��� y����� � y���� z�� ��� ��y�{{��{������� ��� ��� ����9����{� ������< 
��� ���� ���y�9y�� ���� ��3� ��Ä=������ ���� =������ ����� �z ��=���9��{�� ����=����� �� ��� ���=��� �z ������{ � ����� �������{����� z�� ������<
ã¸É ÷ÌF ÙÌºÏÀ¾ÌÎ

�� ���� �z �����y�� ��� z������� z�� ��� x�����C ��9y�{{��{ �����3 {��� �� ��� ��� y�� ����� ��� � z������ ���3 � ������ 3��� �3������� ���� ��� ������<
ò"5"# $)1,ëZ/0)-

�� ���� ����{ ���� ��� x�����C ��y�{{��{ �����3��=�� �� y� �y�� �� =�3������� ��y�{ ��� ������ x�9����C ������ y� �����3������= ������ �� ��� ������� z����3������ ��=�����{ ��� ��������< 
��� ���� ���y�y��y� ��� ��C� z������ ����� �� ��� x�����C ��y�{{��{�����3<
ò"5"5 ø%-+0%X7+)W W)X7''%&'¥� ��� z������ ��� x�����C ���3����� ���� ������� �������� �z ����9��3� ������ ��=� ������{ ����� ��� ��9����=� �z ��� x�����C ������< 
��� ���� =���� �������z�� ������y���� ��y�{{��{ ���� � {��y�� ��3�y���� ��9�����{ ��� �����3 �� ��y�{ ��� ������ �������<
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¥� ��� ��=�3�������� �z ��� x�����C ������ pWVUWe���� ������� ���=����� ��� �����y����� �z �����{ 3��9������{ ��� ��y�{{��{ 3�=�����3� �� ��� ������ ������� �� 3��� ��� ���=��� �z =������{ x�����C9y��������9��3� �����3� ������ ���� ��� ��� �z 3��� ���������9��3� ��������{ �����3�< ¥� ��������� ��y�{{��{y� �����3������= ������ ������� ����� 3��� z�������������3��� �z ��� ������ ������ ��� ���� z���������{<¥� ��� ��3� ����=��� ��� ������� ���� ���=��y�� �������=����� �z ��� ������ ���� �������� ��� x�����C ���9��3 z�� ��y�{{��{ y� �����3������= ������< 
�� ������� �� ��� ��� ��3� 3�=�����3� ���� ���� ���� ������z�� ��� ��y�{{��{ ��=�����{< 
��� ����� ���� �� �������y�� �z �����{ ��� ��3� ���� ���=� �� ��=� �����<x� �� ������ ���� ����� ����=����� ���� ��� ���� �� �����y�{{��{ ��=�����{ ��� �� ����� 3������ 3�3��� ��9�{�� y�� ��� =���{�� ���� ������ 3��� ��� ��� y���=���� ��3���� ��� ��3�<¥� 3��� ����=��� ���3����{ 3��������{ ��� ��y�{9{��{ y� ��������9��������� ���9�����z����{ ���y������ ��z����� ���y� =��=��� �� ���� �� y� ���==����y����� �� ��� 3��� �������	 ������ ��� ��3���� �z ������y�� ���� =���� ���y�9� �=�� �� ��� �����3� 3����{�� �3�����y�� �� �=����� �� ������=�� �C�=����� �� ��������� ��� �� �� ��� ����9���y�9��3���� ����< ��=������� ��=�����{ 3�=�����3� ��� ���y�� ��� ���� �� ����� ���==����y�� ���{� ���=����{� �z �����3 ������=�����=� �� ?@� =�=��� ��� 3�3��� �����{�<B� ���� ������� �� ���� ����� ���� 3����9������{����9��3� ��y�{{��{ y� �����3������= ������ ����{ ��z�9���� ���y�� �� �� �3�����y��9��9�3���3��� ������=����¶�=�� y�� � ������{ ����9��3� �������� ���� ���� �=9=����y�� ������ �� ������ ���z��3��=� ��� 3�3��� ��9�{�< 
�� ���y� � �=� �� ���3������ y� ������{ ��� 3��9������{ ���y�� ��3��� �� ��� �����3 ���� �z��� ��� ��9y�{{��{ ����� �� �����{�< ��z����������� �� ������{����z��3��=� �������� �z ��� 3��������{ 3�=�����3� ����� ������ ���� y��� 3���� �� �� �C�=� ��3y��� =��y� ��������� �� ���� ������<
�� x�����C ��y�{{��{ �����3 �������� �� ����9��9��� �����z�=� ��� �� ��C�y�� ��� ������ �����y�� ��� ����� ��z����� �3���3��������< ?��������� ��� ��y�{{��{�����3 �������� ���� ��� �������� ����z��3� ��� 
�9��=�� 
DÅE66 3�=��=���������� ���� �� ��� Õ�{� ����9����3 ����z��3� ���� ���=� ��� ������ x�����C ���3�9���� ��������� �� y����< ¥� ��� ���� z������ ����������� ����z��39��������� ����� �z ��� x�����C ���3��������� y� ������ �� ����� �������� ����z��3�<

¥� =��=������� �� ���� ��� =��� ���� ��� x�����C ���9��� ���������� ��� ��� �������3���� ��� ������� ����y��� �3���3����� �� � z���� �����z�=���� ���< 
��9����� ����� �� � ������{ ��������� �z ��� x�����C ��9y�{{��{ �����3� ���=� ���� y��� ���� z�� ��3������9���� �������� ���� ����z����� ���� y� ���� �� ���=�9������ ��� ����9��z� �����3 �������3���<
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� ���� ��� ��������� �� ���������� ��� ���=��� �z=���{����{ ��� x�����C ��y�{{��{ �����3� ���� ���������� ����� �� ��� ������< ¥� ���� ��������� �� ���� ��� ����=������ �����3 Þ ���=��y�� ������� �� ��� ������< Ay9����� ���� ��� =���{������� �z ����� �� ��� �C��������� ���� ��������< ��� ���� =���{�������� ��� ��� Ay���C��=�3�������� `cWeguX`U_Y``e< 
�� ������ =���{���9���� ��� �z ��� �����3 Þ �� ����� �� ��� ��� �z ������������<Þ �� � �����3 ��{������{ ��� ���� ����� �� �� �����9��� ���=���< 
�� �����3 ��� ����� �����	 t� È� ���w< t �� ��� ���� ������{ ��� ����� �z ��� ���� z��3��� �� ����� ������� �� ��� ���� ����< ¥� ���� ��=���������{� � ��{������ �z ��� ��� ���� ��� ���� ������ y���=������� ��=������ �� �z �� ������ ��3��� =�������<¥� ����� ���� ��=����� �� ���� È �� � 3����{� ��� ����È ���������� ��� ��=����� �� 3���� =������ ��z��3�����z�� ��� 3���� =���������{ ��� ���� ����� ���=�< 
���w �� �� ���������9������ ����� ����������� z��3 t ���È� ���� ���������{ �� � y����� ���� ������ ��� �����������3<
�� ���� ����{ �� �� �� �� ���� ��� �����3 ���� ��9y�{{��{ ������� ������ y� ��=�����< 
��� ����� ��������	
ÏÈ²üý ú
�þ

��� ����� ��� �����3 �� �=������ ��� ��=�����{ 3�=�9����3� �� ��� ������< 
������� �� ��=�����{ �����{�z�� =������ ��� �� ����=���� ���< L�C�� �� ��=��� ������ ����� ���� �� ���� � ��=�����{ �z �� ����� ��� ����E66 �����3 ��=��< 
��� ��=�������� ����� ���� ���� ���z�������{	
ÏÈ²üý ú
²üþþÈÇ¥¤Ì§È 	 ÚÓÓþ�þ

A�� ��� �����{� ���=� ���� y� ����=���� z�� E66 ��=���z =������ ���< 
������� �� ���� ��� y� ��� ��� ��9=����� �� ��� �����3< 
��� t ���� ���� � 3������ ����=��� ��� ��� ���� ���� z��3 ��� ����� ������� ���
��� È ���� ���� � 3������ �� ��=��� ��� 3����{� ����

z��3 t< 
�� ��=��������� �z ��� ���� ��� y� ��� �������� �� ��� z�������{ �����<
ÏÈ²üý ú
²üþþÈÇ¥¤Ì§È 	 ÚÓÓþ
§ËÍÌ¤ËÇ ÊÈÇÌËÏÌµ ¦ úÏ¦¤¦ÈÍ¤Çÿ �ø�üø¨©¥ö� ø�üø¨©�þÏ¦¤¦ÈÍ¤Çÿ �ø�üø¨©¥ö� ø�üø¨©°þ�þ
§ËÍÌ¤ËÇ ÊÈÇÌËÏÌµ ² úÏ¦¤¦ÈÍ¤Çÿ �³�øø÷´�¥ö� ³�øø÷´�þ�þ

�þ

��� ���� ����=��� ���=� z�� ��=�����{� �z ���� z��3���� t ��� È< 
�� \WU\`V�Y ��� bW\\[hW�Y ��=����9����� ���� ��� �����3 ��� ����� �z ��� �����y��� \WU\`V£�\WU\`Và ��� bW\\[hW< Õ��� y�� ��� ������ =������ ������=� ��� �� y� ����=���� z�� ��������= ������� ��=� ���=�������� �z ���� w< ¥z �� ���� �� y� �y�� �� ����� �3�C�3�3 �z ��� ����=������ �z ���� w �� E66 ��=������ ��=�������� ������ ���� ���� ��� ��� �� ��� ��C���=����<
ÏÈ²üý ú
²üþþÈÇ¥¤Ì§È 	 ÚÓÓþ¦ÊÈÇ¥È�ÈÍ¤¯ 	 °þ
§ËÍÌ¤ËÇ ÊÈÇÌËÏÌµ ¦ úÏ¦¤¦ÈÍ¤Çÿ �ø�üø¨©¥ö� ø�üø¨©�þÏ¦¤¦ÈÍ¤Çÿ �ø�üø¨©¥ö� ø�üø¨©°þ�þ
§ËÍÌ¤ËÇ ÊÈÇÌËÏÌµ ² úÏ¦¤¦ÈÍ¤Çÿ �³�øø÷´�¥ö� ³�øø÷´�þ�þ

�þ
¥z ��� ���� w ���� ������ �� ��=��� ����� �� �������� � ���� ��� y� ��� ������{ ���� ��� ��� �� �{��� x<H
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§ËÍÌ¤ËÇ ¦ÊÈÇÌËÏÌµ µ ú�Ò Ç�Ð¨©Ñø öÿ¨ ûü�¨Ð÷öû¨üø Ò�ÍË¥²üþþÈÇ¯ 	 °þÏ¦¤¦ÈÍ¤Çÿ �Ñ÷ö÷¥ö� Ñ÷ö÷þ�þ
��{��� x<H	 =�������? ��;< �������

�Ò � 	 ¬ø�©�Ñ�­ûü�Ñ ûüö�´�© Ò�¯�¥µËÍ¤ÇËæþæË� 	 �þ²üþþÈÇ¥¤Ì§È 	 ÚÓÓþ¦ÊÈÇ¥È�ÈÍ¤¯ 	 °þ
��{��� x<G	 	;��A������ ?������ ��� ;���

��� �z �� ����� ���� �� =���{��� ��� ���� �z ��� =��9���� ��� y� �� ��������� ������� �z ������{ ��� �����3=��=����� ��� �� ����� ��� � ���� ������{ ���� ��� ����� �{��� x<G<¥� ��� Ay���C =���{������� ���� ����z�� =�33������� ����� �� ���� ����� ����� �� ��� ��� ��y�{ ��=9���������<
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ÆGÇ x< 2�������� ��� �< Õ���{���< x�����C z��3�����	 Ay���C �������3��� �������3���< k[\YWV ŝ W\g\]k[e[Vd[eWU\ mUgnWV\gYZ] ÜWl[VYbWUY _̀ w`blaYWV SUhgUWWVgUh] �[\YWV[\ �aUW à¢¢¢j� G666<
ÆEÇ x< F�{y��{ ��� x< @��������< x�����C	 x ��������� z�� � �3���9����� ����9��3� ������< k[\YWV ŝ W\g\]k[e[Vd[eWU\ mUgnWV\gYZ] ÜWl[VYbWUY _̀ w`blaYWV SUhgUWWVgUh] �[\YWV[\ �aUW à¢¢¢j� G666<
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